DNA Notes

Solving the structure :

Structure of DNA was solved in 1953 by:

Jim Watson and Francis Crick…

Other people were also instrumental in providing important data and clues:





Their contribution

Rosalind Franklin…
Maurice Wilkins…

Erwin Chagraff…

Linus Pauling…

DNA = Deoxyribonucleic acid
DNA is important because:

Structure:  DNA is composed of two long strings of nucleotides linked together with hydrogen bonds  (nucleotides are the building blocks of DNA).  A nucleotide is comprised of  (Draw the 2D atomic shapes of the molecules omitting the H atoms):

Deoxyribose:

Phosphate:

Nitrogen bases:

Adenine ALWAYS pairs with Thymine and Cytosine with Guanine.  Their shapes and sizes are a clue to why this happens (Adenine and Guanine (Purines) are larger than Thymine and Cytosine (Pyrimidines)) (Show hydrogen bonds. Which pair is stronger?)

Some Diagrams:

DNA:

Antiparallel:

5' and 3'

